tehnot=ka hitps:/itehnoteka.rs

Uputstvo za upotrebu (EN)
NZXT kuciste H7 Flow RGB CM-H71FW-R1

Tehnoteka je online destinacija za uporedivanje cena i karakteristika bele tehnike,
potrosacke elektronike i IT uredaja kod trgovinskih lanaca i internet prodavnica u Srbiji.

NasSa stranica vam omogucava da istrazite najnovije informacije, detaljne karakteristike
I konkurentne cene proizvoda.

Posetite nas i uzivajte u ekskluzivnhom iskustvu pametne kupovine klikom na link:

https://tehnoteka.rs/p/nzxt-kuciste-h7-flow-rgb-cm-h71fw-rl-akcija-cena/



https://tehnoteka.rs/?utm_source=tehnoteka&utm_medium=pdf&utm_campaign=click_pdf
https://tehnoteka.rs/p/nzxt-kuciste-h7-flow-rgb-cm-h71fw-r1-akcija-cena/?utm_source=tehnoteka&utm_medium=pdf&utm_campaign=click_pdf

NZXT

e e e T —
2088388388888 a s a0 R03330383853552323333%%3
o e e e e E S o S 5R05589R52088382028952302
020, oooomooooooooooo000Oooooaooooooomomowowownvo 3 RR03820R5303030302 53025

SNOACR, (o) (o) (o) 2!
OpPePAOARCARS A0, 600 @, OO <28 00000000@000000 %y =3
B e S S S R E S R T SRy

MID-TOWER AIRFLOW CASE WITH RGB FANS

H7 FLOW RGB



TABLE OF CONTENTS VERSION 1.0, 2022/12/20

EXPLODED VIEW ... i 01
CLEARANCES AND SPECIFICATIONS ..................... 03
ACCESSORY BOX ... 06
CABLE CONNECTIONS ... ... 09
BUTTONS AND /0 ... 10
CABLE MANAGEMENT ... 11

PANEL REMOVAL




CABLE BAR ... 14

MOTHERBOARD INSTALLATION .............................. 15
SSD DRIVE INSTALLATION ... 16
HDD DRIVE INSTALLATION ..., 17
EXPANSION CARD INSTALLATION .................oonen. 18

POWER SUPPLY INSTALLATION ...............ooiiiiiins 19




FAN AND RADIATOR SUPPORT ............coooiiiiiiin. 20

FAN & RADIATOR INSTALLATION ... 21
POWERING THE LEDS ... 23
RAMERTRIR/RAVMERTREE ... 24
NZXT GLOBAL WARRANTY POLICY ...................... 25
REGULATORY STATEMENT ... 28

SUPPORT AND SERVICE ... 31




EXPLODED VIEW

VISTA EXPLOSIONADA
VUE ECLATEE
EXPLOSIONSDARSTELLUNG
VEDUTA IN ESPLOSO

VISTA EXPLODIDA

BB ERE
B RRE

e

1. Top Panel
2. Top Filter

3. Rear Exhaust Fan

4. PClinsert

5. PSU Dust Filter

6. Cable Bar

7. Tempered Glass Panel
8. Front I/0 Module

9. Right Side Panel

10. SSD Tray

11. Front Intake Fans
12. Front Cooler Bracket
13. HDD Cage

. Front Filter

15. Front Mesh Panel

16. Front Bottom Dust Filter

=

. Abdeckung oben
. Oberer Filter

. Lifter fiir Luftauslass an Rickseite
. PCl-Einsatz

. Netzteil-Staubfilter

. Reinigungsleiste

. Linke Hartglasblende

. E/A-Modul an der Vorderseite

. Rechte Blende

10. SSD-Fach

11. Lifter fiir Lufteinlass an Vorderseite
12. Kiihlerhalterung an Vorderseite

1. Festplatteneinsatz

. Frontfilter

15. Mesh-Einsatz vorne

16. Staubfilter Unterseite vorne

CENO s BN

®

CoNe o s wN o

3

©ENO s ®N

®

. Panel superior

. Filtro superior

. Ventilador de escape trasero
. Insercion PCI

. Filtro de polvo de la PSU

. Barra de limpieza

. Panel de cristal templado

. Médulo de E/S frontal

. Panel lateral derecho

10.
1.
12.
. Compartimento do disco rigido
14.
15.
16.

Bandeja unidad de estado solido
Ventilador de entrada frontal
Soporte del refrigerador frontal

Filtro frontal
Panel de malla frontal
Filtro antipolvo delantero (bajo)

. Pannello superiore
. Filtro superiore

. Ventola di scarico posteriore

. Coperchio slot PCI

. Filtro polvere alimentatore

. Barra di gestione dei cavi

. Pannello laterale sinistro di vetro temperato
. Modulo I/0 anteriore

. Pannello laterale destro

10.
1.
12.
13,
. Filtro frontale
15.
16.

Cassetto SDD

Ventola di ingresso frontali
Staffa raffreddamento anteriore
Cassetto HDD

Pannello frontale in rete
Filtro antipolvere frontale inferiore

CNo s @ o

©

SeoNoarwn

®

. Panneau supérieur

. Filtre supérieur

. Ventilateur d'échappement arriére

. Insertion de PCI

. Filtre a poussiére du bloc d'alimentation
. Barre de balayage pour nettoyage

. Panneau gauche en verre trempé

. Module avant E/S

. Panneau latéral droit

10.
1.
12.
13.
14.
15.
16.

Plateau SSD

Ventilateur d'admission avant
Support du dissipateur avant
Plateau pour disque dur

Filtre avant

Panneau avant en filet

Filtre & poussiére avant (dessous)

. Painel superior

. Filtro do topo

. Ventoinha de exaustao traseira

. Ranhura PCI

. Filtro de p6 do PSU

. Barra de limpeza

. Painel esquerdo em vidro temperado
. Médulo E/S frontal

. Painel lateral direito

. Tabuleiro de SSD

.
12.
13.
. Filtro frontal
15.
16.

Frente e entrada das ventoinha
Suporte da ventoinha frontal
Bandeja de unidad de disco duro

Painel de malha frontal
Filtro de p6 do fundo da frente

01



. detmd

A Zef

B bk

PCI &% 78]

. PSU BiX| ZEf

. #o12 el v

L EE e palme
. H U0 RS

. R AolE T

. SSD E3j|0|

L MBI

HE g

LM 28 2l
. HDD E3{|0|
L]

. He o4 o

. MO shet x| EE

. TREBER

. TEsad M

. EHSE

. PCI i@

. PSU BFALITER
. LR

. D MICREER
. AIED 1/0 #R

. ABER

SSDH

- BDESE

. Al R 882
. BRRER

. BUEBEM

. AIRIR

. BRI LR

©

10.
.
12.
13.
4.
15.
16.

1
2
3
4
5,
6
7
8

- bUTIRERIV

- kT T8~

- UTHET T

- PCl A4 —h

PSU #RbT41)L5—

- JU—VRIBR

- RIS RISRIV

- 7OYkI/0EVa—IV

- BYARRRIV

SSDRLA

TV RATTY

70Y b —5—=T345 vt
N=FFSAT LA

A bI74bE—
Tarbryvanziv
7OV bRMLERR TV R~
. BE

. TEENBIEM

. BEHERRE

. PCI i@l

. ERGLAESRERE

. BRIER

. ERRR{ERBER

. Ai75 1/0 i

- AR

SsD#

. BITERRR

. AU AEER e

. BB
. AUEDEAD
. AR

. AIEEDEA

02



CLEARANCES AND SPECIFICATIONS

MEDIDAS Y ESPECIFICACIONES
DEGAGEMENTS ET SPECIFICATIONS
Abstéande und technische Daten
SPAZI NECESSARI E SPECIFICHE
DIMENSOES E ESPECIFICACOES

225 32
R
BBE SHIE
I BRERARAE

230MM

480MM

0000000000000000008;

%ﬁ%%%%ﬁ%%ﬁ%%@éﬁi%ﬁ%%%ﬁi
DR OO (O
bl T
BRSOt
i gat e i
A S S
e
s Do e
Lottt Rt ettt
i e A
%ﬁiﬁ%@%ﬁ@%ﬁ%@%@%@%ﬁ%@%ﬁ

505MM
982883
S
=
980

SRt
e S
LS R g

o S L L
é@%%ﬁ%%%ﬁ%%ﬁ%%%ﬁ%;éﬁ%ﬁ%

| S
W
e g
e
e
B
e e
i
Nzxr

[1=]

$6

oan

o

o

NzXw

R!

——

Motherboard Support
2.5” SSD Support
3.5” HDD Support
Expansion Slots
Cable Management
CPU Cooler Clearance
GPU Clearance

Front Radiator

Top Radiator

.

ATX, Micro-ATX and Mini-ITX
4+2

2

7

18-22mm

185mm

400mm

60mm

30mm

03



Placas base admitidas

Unidad de estado sélido de 2,5”

Unidad de disco duro de 3,5”
Ranuras de expansion
Administraci6n de los cables
Disipador de la CPU

Distancia de seguridad para GPU

Radiador frontal
Radiador superior

Cartes mére prises en charge
8SD 2,5”

Disques durs 3,5”

Fentes d’expansion

Gestion du cablage
Refroidisseur du processeur
Dégagement GPU

Radiateur avant

Radiateur du dessus

Motherboard-Unterstiitzung
2,5-Zoll-SSD
3,5-Zoll-Festplatte
Erweiterungssteckplatze
Kabelverwaltung
CPU-Kiihler

GPU-Abstand

Vorderer Kiihlkérper

Kihler Oberseite

Scheda madre supportata
SDD 2.5”

HDD 3.5”

Alloggi d’espansione
Gestione dei cavi
Dispersore di calore CPU
Spazio necessario alla GPU
Radiatore frontale
Radiatore superiore

Placa-principais suportadas
SSD de 2,5"

HDD de 3,5”

Ranhuras de expansao
Gestao de cabos

Dissipador de CPU

Folga para a GPU

Radiador frontal

Radiador superior

ATX, Micro-ATXy Mini-ITX
4+2

2

7

18-22mm

185mm

400mm

60mm

30 mm

ATX, MircATX, MinilTX
442

2

7

18-22mm

185mm

400mm

60mm

30mm

ATX, Micro-ATX, Mini-ITX
442

2

7

18-22mm

185mm

400mm

60mm

30mm

ATX, Micro ATX, Mini ITX
4+2

2

7

18-22mm

185mm

400mm

60mm

30mm

ATX, Micro-ATX, Mini-ITX
442

2

7

18-22mm

185mm

400mm

60mm

30mm

04



OlH2E X9
2.5"SSD

3.5" HDD

gAY sR
Aolg Ha|
CPU 2

GPU 2+

&4F 2|00l Ff
A atr] ool

TH—R— R f

3.5"HDDH R —Fk
IHZNvavROy
T=7ILDER
CPUY—Z—VUTSVA
GPUZUT SR

JavhIII—4%—
7SV T—%

EREH
2.5"SSDXZ#
3.5"HDD 5
s
BB

CPU B4 aR 18] 2B
GPU E5E
BIEAURS
TRERBLES

ERE
2.5"SSDX 12
3.5"HDDXZ 1%
mrE
mmeEE

CPU 12428955
GPU R
AEBER

ATX, Micro ATX, Mini ITX
442

2

7

18-22mm

185mm

400mm

60mm

30mm

ATX, MicroATX, MinilTX
442

2

7

18-22mm

185mm

400mm

60mm

30mm

ATX, Micro ATX, Mini ITX
4+2

ATX, Micro ATX, Mini ITX
442

2

7

18-22mm

185mm

400mm

60mm

30mm

05



ACCESSORY BOX E

CAJA DE ACCESORIOS SFMIAE| Bf A
BOITE D'ACCESSOIRES BRaAE (FAAEAY)
ZUBEHORSET RiFE

SCATOLA DEGLI ACCESSORI BHE

CAIXA DE ACESSORIOS

A Hexagon Screw 6-32 x 6mm

X4

B Screw 6-32 x 5mm

C Screw M3 x 5mm

D Screw KB5 x 10mm

E Standoff 6-32 x 6.5+4mm @ I:H] @

x1

F standoff wrench @

x1

G cableTies //
H sspray %

x2

06



I®TMMmMOO > IOTMmMOO >

I®TMmMOO >

I®TMmMOO®>

I®TMmMOO®>

. Hexagon Screw 6-32 x 6mm
. Screw 6-32 x 5mm

. Screw M3 x 5mm

. Screw KB5 x 10mm

. Standoff 6-32 x 6.5+4mm

. Standoff Wrench

. Cable Tie

. 8SD Tray

. Tornillo hexagonal de 6-32 x 6 mm
. Tornillo de 6-32 x 5 mm

. Tornillo M3 x 5mm

. Tornillo KB5 x 10 mm

. Separador 6-32 x 6,5 +4 mm

. Llave para separadores

. Brida para cables

. Bandeja unidad de estado sélido

. Vis hexagonale 6-32 x 6 mm
. Vis 6-32 x5 mm

. Vis M3 x5 mm

. Vis KB5 x 10 mm

. Entretoise 6-32 x 6,5 + 4 mm
. Clé pour entretoise

. Attache-cable

. Plateau SSD

- Sechskantschraube 6 — 32 x 6 mm
. Schraube 6 - 32 x 5 mm

. Schraube M3 x 5 mm

- Schraube KB5 x 10 mm

. Abstandhalter 6 — 32 x 6,5 + 4 mm
. Abstandhalter-Schlissel

. Kabelbinder

. SSD-Fach

. Vite esagonale 6-32 x 6 mm
. Vite 6-32 x 5 mm
. Vite M3 x 5 mm

Vite KBS x 10 mm

. Distanziatore 6-32 x 6,5 + 4 mm
. Chiave per distanziatori

. Fascetta per cavi

. Cassetto SDD

Power supply installation

Motherboard installation, 3.5 hard drive installation
2.5 hard drive installation

Fan installation

Motherboard installation

Motherboard installation

Cable managment

SSD drive installation

Instalacion de la fuente de alimentacion

Instalacion de la placa base e instalacion de la unidad de disco duro de 3,5"
Instalacion de la unidad de disco duro de 2,5"

Instalacion del ventilador

Instalacion de la placa base

Instalacion de la placa base

Administracién de los cables

Instalacién de la unidad de disco de estado sélido

Installation de l'alimentation électrique

Installation de la carte mére, installation du disque dur 3,5”
Installation du disque dur 2,5”

Installation du ventilateur

Installation de la carte mére

Installation de la carte mere

Gestion du cablage

Installation du disque SSD

Netzteilinstallation

Motherboard-Installation, 3,5-Zoll-Festplatteninstallation
2,5-Zoll-Festplatteninstallation

Lufterinstallation

Motherboard-Installation

Motherboard-Installation

Kabelverwaltung

SSD-Laufwerksinstallation

Installazione dell’alimentatore

Installazione della scheda madre, installazione HDD 3.5”
Installazione HDD 2.5”

Installazione della ventola

Installazione della scheda madre

Installazione della scheda madre

Gestione dei cavi

Installazione dellunita SSD

07



IOTMmMOO >

I ®TMmMmOO > I®TMMmMmOO®mD> I®GTMMmMOO®D>

I®TMmMOOw>

. Parafusos hexagonal 6-32 x 6 mm
. Parafusos 6-32 x 5 mm

. Parafusos M3 x 5 mm

. Parafusos KB5 x 10 mm

. Separadores 6-32 x 6,5+4 mm
. Chave para separador

. Bracadeira para cabos

. Tabuleiro de SSD

. S2LEAL 6-32 x 6mm
. LEAF 6-32 x 5mm

. LFAF M3 x 5mm

. LFAF KB5S x 10mm

AMEQIE 6-32 x 6.5+4mm
AEHEQ I X

- 70l= Efol
.SSD E&|0|

.6ART6-32 x 6mm

-32 x 5mm
M3 x 5mm

X

. ZYKB5x 10mm

. ARV RA76-32 x 6.5+4mm
ABURAT LUF
T=7IbBAL

.SSDhLA

NAEL 6-32 x 6mm

. $84£ 6-32 x 5mm

. #2842 M3 x 5mm

. #2842 KB5 x 10mm

. Bi4% 6-32 x 6.5+4mm
CHHES

REH
SSDZR

. NAEH# 6-32x6mm
. $84% 6-32 x 5mm

. 8244 M3 x 5mm

. $8#% KB5 x 10mm

PIE 6-32 x 6.5+4mm
WEED

. SSD%E

Instalagao da fonte de alimentagao
Instalacao da placa principal, instalacao da unidade de 3,5"
Instalagéo da unidade de 2,5"
Instalacdo da ventoinha

Instalagao da placa principal
Instalacao da placa principal

Gestao de cabos

Instalacao da placa de expansao
TSR A

O EE MX|, 35 8tE E2t0|2 MX|
253t 20| HX|

x|

OiE=E 23|

OiEf =2 E EX|

Aol Fa|

SSD E2to|E 4%

<Y —R— R, 3.5HDDEEA
2.5HDD##E

TrEER

F—R—FEER
R—REER
r—7IVEER

SSDEEE

ZHEBR

EREE, 35 ERLE
25 BRER

ZENE

it

FiRRE

SKUHER

SSD I3 Zesx

ZERER

EWIRDE, 3.5 BRLE
2.5 ERRZE

ZERAR

ERLE

FiRRE

fmEE

SSDZ %

08



CABLE CONNECTIONS

DISCO DE ADMINISTRACION DE CABLES | #[0|& ¢1Z

CONNEXIONS DES CABLES =7 IV
KABELVERBINDUNGEN LR
COLLEGAMENTI DEI CAVI ol 22

LIGACOES DE CABOS

FOR INTEL STANDARD F_PANEL HEADER USB 3.2 GEN 2 TYPE-C

HD AUDIO

USB 3.2 GEN 1 TYPE-A HD AUDIO



BUTTONS AND I/0

Botones y E/S HE % 1/0
Boutons et E/S REVELT /0
Tasten und E/A 1#ZEF 1/0
Pulsanti e I/0 #3170

Botdes e E/S

O000OESO00000000O0ODOVACOCDROO
O000OOOO0O00000O0CO0ODOVACOCOROO
[slel]islvisivislvislvivlvislvlislslilsl101GI1I0lbO[6l0]
O000DOO0000O0O00O00DOVAVOODDOO
0000000888000 0000DSPIVVODPOV
[slelviblvivivivivielvivielvlvelslslNSleIS7 Ol
0000000000 0OOOOOOOCOOOOOODDDD
1 2 3 4 5
| [L]
©)
1. Headset Jack 1. Ingresso Cuffie 1. SENEZEERER
2.USB3.2 Gen2 Type-C 2. USB 3.2 Gen2 Type-C 2 .USB3.2Gen2 Type-C
3. USB3.2 Gen1Type-A 3. USB 3.2 Gen1 Type-A 3. USB 3.2 Gen1 Type-A
4 . Power switch 4 . Interruttore d’alimentazione 4. BRFR
5. Power LED 5. LED alimentazione 5. BBIRLED
1. Jack para auriculares 1 . Jack de fone de ouvido 1. EERRMEAAL
2 .USB3.2 Gen2 Type-C 2. USB 3.2 Gen2 Type-C 2. USB 3.2 Gen2 Type-C
3.USB 3.2 Gen1Type-A 3. USB 3.2 Gen1 Type-A 3. USB 3.2 Gen1 Type-A
4 . Interruptor de encendido 4 . Interruptor de alimentacéo 4. BIRFEE
5 . LED de alimentacion 5. LED de alimentagédo 5. @IFLED
1. Prise Casque 1.8 EA X
2 . USB 3.2 Gen2 Type-C 2. USB 3.2 Gen2 Type-C
3. USB 3.2 Gen1 Type-A 3. USB 3.2 Gen1 Type-A
4 . Interrupteur marche/arrét 4. MYl AKX
5 . Témoin d’alimentation 5. ™ LED
1. Headset-Buchse 1. A\YFeyhIvvs
2.USB3.2Gen2 Type-C 2. USB 3.2 Gen2 Type-C
3.USB3.2Gen1Type-A 3. USB 3.2 Gen1 Type-A
4 . Netzschalter 4. BRAAVF
5 . Betriebs-LED 5. /\7—LED



CABLE MANAGEMENT

SISTEMA DE GESTION DE CABLES Aol el Al2"
SYSTEME DE CABLAGE T=TIWIFIAV NV RT s
KABELMANAGEMENTSYSTEM BLEBRS

SISTEMA DI GESTIONE DEI CAVI BRER ARG

SISTEMA DE GERENCIAMENTO DE CABOS

FRONT I/0 CABLE AND FAN CABLE CHANNEL

24 PIN CABLE AND SATA CABLE CHANNEL

e 20 °f§'

|

FAN CABLE CHANNEL

9
I 8 PIN CABLE CHANNEL
6]['
Ol
of
i
[ i

i



PANEL REMOVAL

EXTRACCION DE PANEL e HA
RETRAIT DU PANNEAU INZIVDEIAL
BLENDE ENTFERNEN HTFER
RIMOZIONE DEL PANNELLO BIRER

REMOCAO DOS PAINEIS

12



13



CABLE BAR

BARRA PARA CABLES 7olE st
BARRE DE CABLAGE r=7II\—
KABELSCHIENE FRL AR
BARRA DEI CAVI BB
BARRA DE CABOS




MOTHERBOARD INSTALLATION

INSTALACION DE LA PLACA BASE OHEE "X

INSTALLATION DE LA CARTE MERE Y —R—FDEE

INSTALLATION DER HAUPTPLATINE ERLE

INSTALLAZIONE DELLA SCHEDA MADRE EWIRLE G
INSTALACAO DA PLACA PRINCIPAL

i

15



SSD DRIVE INSTALLATION

s

SSD E2to|E HX|

SSDE&
SSD Wihas %

SSDZHE

INSTALACION DE LA UNIDAD DE DISCO DE ESTADO SOLIDO

INSTALLATION DU DISQUE SSD
INSTALAGAO DA PLACA DE EXPANSAO

SSD-LAUFWERKSINSTALLATION
INSTALLAZIONE DELL'UNITA SDD

16



HDD DRIVE INSTALLATION

INSTALACION DE LA UNIDAD DE DISCO DURO HDD Ez2tol2 HdX|

INSTALLATION DE LECTEUR HDD HDD#E#&
HDD-LAUFWERKSINSTALLATION HDD W E B &%
INSTALLAZIONE DELL'UNITA HDD Bz

INSTALAGAO DA PLACA DE EXPANSAO

17



EXPANSION CARD INSTALLATION

INSTALACION DE LA TARJETA DE EXPANSION
INSTALLATION DE LA CARTE D’EXTENSION
INSTALLATION DER ERWEITERUNGSKARTE

2y 7he K|
HED— RO
TREEE
A RS

INSTALLAZIONE DELLA SCHEDA D'ESPANSIONE
INSTALAGAO DA PLACA DE EXPANSAO




POWER SUPPLY INSTALLATION

INSTALACION DE LA FUENTE DE ALIMENTACION
INSTALLATION DE LALIMENTATION
INSTALLATION DER STROMVERSORGUNG
INSTALLAZIONE DELLALIMENTATORE
INSTALACAO DA FONTE DE ALIMENTACAO

HASSHR 2K

BRDZEE

IMPORTANT!

Install the PSU with the fan facing down.




FAN AND RADIATOR SUPPORT

Compatibilidad de ventiladores y radiadores
Prise en charge des radiateurs et ventilateurs

™ 3L 2te|ofofEf x| @
RWET7VBELVPZV T4

Lufter- und Kiihler-Unterstiitzung REFARER S
Supporto ventole e radiatore EERAE R
Suporte para ventoinha e a radiador
T e e
(e
E E ° H °
S S L
RADIATOR ek H v .
TOP: UP TO 360MM i o o Al
FRONT: UP TO 360MM M8 B 8 ° ENENE
REAR: UP TO 140MM NEDT Si2S
. 1) T 2l
(120mm ][ 120mm ][ 120mm ]
e ) )
| (@] M
. .. - o — g R
£l | g 3| 8
FAN M: 5B
° ° 3 3
H 313
TOP:3X 120MM / 2 X 140MM _ﬁfm . ) U=
FRONT:3 X 120MM / 3 X 140MM N B o . 2
REAR:1 X 120MM /1 X 140MM E%E ;o\ §
3 U
- L

140mm

120mm

20



FAN & RADIATOR

Instalacion de ventiladores y radiadores
Installation des radiateurs et ventilateurs
Lufter- und Kihler-Installation
Installazione ventole e radiatore
Instalagéo para ventoinha e a radiador

INSTALLATION

T 9! 2pC|ofolE dX|
T7VEZT IO
ket iees
BB

21



22



POWERING THE LEDS

COMO ALIMENTAR LAS LUCES LED (ARGB 5 V) LED T ¥ #{7|(5V ARGB)
ALIMENTATION DES LED (RVBA 5V) LEDA\DE A (5V ARGB)
LEDS ANSCHLIESSEN (5V ARGB) 4 LED f#=8 (5V ARGB)
ALIMENTAZIONE LED (5V ARGB) #3 LED 4% (5V ARGB)

ALIMENTAGAO DOS LEDS (ARGB 5V)

F <\
&

Connect the 5V ARGB (Female) end to an available 5V 3-pin ARGB header on your motherboard.

Conecta el extremo del ARGB 5V (hembra) a un cabezal ARGB 5V de 3 pines que tengas disponible en la placa base.
Raccordez I'extrémité RVBA 5V (femelle) @ une embase RVBA 5V 3 broches disponible sur votre carte mére.

SchlieB das 5V ARGB-Kabel (Buchse) an einen freien 5V 3-Pin ARGB-Anschluss auf deinem Motherboard an.
Collega il terminale ARGB 5V a un connettore 5V a 3 pin disponibile sulla scheda madre.

Ligue a extremidade ARGB 5V (fémea) a um conector disponivel ARGB 5V de 3 pinos na sua motherboard.

5V ARGB(2) THEE OtH 2. 20f = At 7hs 3t 5V 3T ARGB 8| C{0f| A AT L|CE

5V ARGB (#R) i F& X #'—R—F LOFEREIRELSY 3L ARGBAY A —|TERLE T,

5 5V ARGB ( JBEE ) ImiER 2@ AR AR GERM 5V 3 £ ARGB L -

i 5V ARGB ( B88 ) I EI AR ERTIM 5V 3 #+ ARGB %88

23



IRAMRERTRIR/IRAMERTRBE E

PRI HFE - HRS)

BEMR

BB #(Pb) f#(Cd) K (Hg) AN (Cro) ZRBE(PBB)  ZIREKHKEBI(PBDE)
PCBARAR Lt t O o O o o o
ERRE O ©] O O O O
22 o O O o O O
EmMEBE @] O O O o O
BRERE o O o O O O
NE O O O O O o
o o O O O O
BRREPTH O o O O O O
A RENRI & [©] O O O O O

RERAGHIESI/T 113649 MEL S -

O: RRZBENRELBHRAEM B PR S BI9EGB/T 26572MEHRBEKRT -
X:RTZBAEVREVEZDENE—HEMRPNE BB GB/T 26572 MEH REER, RXBHNMHTEMBEDZ 2011/65/EU BHE -

EmBE  HE HR5

RAME R RS

85T $4(Pb) #(cd) F(Hg) AMEE(Cre) ZI9BK(PBB)  HIREHKB(PBDE)
PCBARH EiEt o o o o o o
miEs o o o o o o
wxt o o o o o o
e T o o o o o o
R o o o o o o
EE o o o o o o
e o o o o o o
BRREEH o o o o o o
EERARIS o o o o o o

BE1 "BHIwWt% REBH0.0Mwt% " RIERANEZ B2 SBHES LSS EEE -
#HE2. 'O GBEZERAVEZENLSBRBLEEN LI BEEE -
HE3. - BIEZERBYERHKRES -

24



NZXT GLOBAL WARRANTY POLICY

This NZXT Global Warranty Policy governs the sale of products by NZXT to you.

I. WARRANTY LENGTH

New NZXT Product Warranty Length

Computer Cases 2 Years

Any replacement product will be covered under warranty for the remainder of the warranty period or thirty days, whichever is longer. Proof of purchase is
required for warranty service.

1I. WHO IS PROTECTED
The Warranty covers only NZXT products purchased by the original consumer.

111. WHAT IS AND IS NOT COVERED

Please note that our warranty is not an unconditional guarantee. If the product, in NZXT's reasonable opinion, malfunctions within the warranty period,
NZXT will provide you at its sole discretion with a repaired or replacement product, either new or refurbished, with a similar function that is equal or
greater in value depending on supply. Our warranty does not cover the following:

« any product or serial number/warranty sticker modification applied without permission from NZXT;

« anydamage that is not a manufacturing defect;

« damage, deterioration or malfunction resulting from: accident, abuse, misuse, neglect, fire, water, lightning, or other acts of nature, unauthorized
product modification or failure to follow instructions included with the product;

« improper installation, unauthorized alterations or modifications, or repair or attempted repair by anyone not authorized by NZXT;
« shipping or transport damage (claims must be made with the carrier);
« normalwear and tear.

NZXT does not warrant that this product will meet your requirements. It is your responsibility to determine the suitability of this product for your purpose.
For NZXT Store orders, we cover two way return shipping for all exchanges and returns. For all other authorized dealers, NZXT Support does not cover
return shipping and only covers one way shipping from NZXT back to the end user for exchanges. Two way expedited shipping is provided for all PSUs
covered under the Less Than Three program, indiscriminate of purchase location, provided the location is an approved NZXT reseller.

IV. EXCLUSION OF DAMAGES (DISCLAIMER)

NZXT's sole obligation and liability under this warranty is limited to the repair or replacement of a defective product with either a new or refurbished
product with a similar function that is equal or greater in value at our option. NZXT shall not, in any event, be liable for any incidental or consequential
damage, including but not limited to damages resulting from interruption of service and loss of data, business, or for liability in tort relating to this product
or resulting from its use or possession.

V. LIMITATIONS OF IMPLIED WARRANTIES

There are no other warranties, expressed or implied, including but not limited to those of merchantability or fitness for a particular purpose. The duration
of implied warranties is limited to the warranty length specified in Paragraph I.

VI.TO OBTAIN TECHNICAL SUPPORT
If you have already referenced your product owner's manual and still need help, you may contact us by phone at +1 (800) 228-9395,
by email at service@nzxt.com, or visit the NZXT Support site at nzxt.com/customer-support.

25



VII. HOW TO OBTAIN A WARRANTY SERVICE FROM NZXT

To receive a warranty service for your product when purchased directly from NZXT, you must submit a request via the NZXT Support site outlining the
problem. If a technician deems the product defective or requiring testing, you will be required to provide a copy of your proof of purchase, which will
enable you to submit a Return Merchandise Authorization “RMA” request.

Once approved, you'll receive an RMA number, upon which you will be asked to ship the defective item back to NZXT with the RMA number clearly marked
or labelled on the package. NZXT recommends that appropriate measures are taken to safeguard the product from damage during shipping.

VIII. APPLICABLE LAW AND ADDITIONAL LEGAL RIGHTS FOR CONSUMERS

This warranty gives you specific legal rights. These conditions are governed and construed in accordance with the laws of California (with exception of its
conflict of law provisions), and the application of the United Nations Convention of Contracts for the International Sale of Goods is expressly excluded.
The non-exclusive jurisdiction of the courts of California is agreed, which means that you may bring a claim to enforce your consumer protection rights in
connection with this Global Warranty in the country which you have your habitual residence where you may have additional rights. These rights may vary.

For original consumers who are covered by consumer protection laws or regulations in their country, state, or province of purchase or, if different, their
country, state, or province of residence, the benefits conferred by this warranty are in addition to all rights and remedies conveyed by such consumer
protection laws and regulations. To the extent that liability under such consumer laws can be limited, NZXT’s liability is limited, and its sole option, to
repair or replacement, either new or refurbished, with a similar function that is equal or greater in value depending on supply.

In the United Kingdom:

« For NZXT products sold to customers in the UK, during the expected lifespan of your product your legal rights entitle you to the following:
> Up to 30 days: if your goods are faulty, then you can get an immediate refund.
> Up to six months: if your goods can't be repaired or replaced, then you're entitled to a full refund, in most cases.
> Up to six years: if your goods do not last a reasonable length of time you may be entitled to some money back.

« Ifthe person seeking to rely on the guarantee is not the original consumer, the NZXT Warranty will cover the product in relation to that person provided
that they are able to provide proof of the transfer of the benefit of the guarantee from the original consumer.

« Theimplied warranties under the Consumer Rights Act 2015 says that your goods must be as described, fit for all purposes for which such goods are
usually supplied, and of satisfactory quality.

In the EU:

« If you are a consumer and have your habitual residence in the EU, you additionally enjoy the protection afforded to you by provisions that cannot be
derogated from by agreement by virtue of the law where you have your habitual residence.

IX. WARRANTY SERVICE FROM RESELLERS

In the event that a warranty service is sought, you must provide proof of purchase (store receipt or invoice) in order to receive the service and if deemed
necessary, repair or replacement product.

In North America:

Within the first 60 days after purchase, please return your product (or for power supplies installed within our enclosures, just the failed power supply)
to your dealer or reseller for a replacement. If the product is still within warranty and you can no longer return it to your dealer, please contact NZXT
Customer Support (see above) for assistance and instructions. NZXT will not accept returns without prior approval and an RMA number.

In Europe:

Within the first year after purchase, please return your product (or for power supplies installed within our enclosures, just the failed power supply) to your
dealer or reseller for a replacement. If the product is still within warranty and you can no longer return it to your dealer, please contact NZXT Customer
Support (see above) for assistance and instructions. NZXT will not accept returns without prior approval.

26



In Australasia:

Within the first two years after purchase, please return your product (or for power supplies installed within our enclosures, just the failed power supply)
to your dealer or reseller for a replacement. If the product is still within warranty and you can no longer return it to your dealer, please contact NZXT
Customer Support (see above) for assistance and instructions. NZXT will not accept returns without prior approval.

The cost of shipping will be borne at the first instance by you; however, if the purchased item is defective, NZXT will reimburse reasonable postage or
transportation of costs.

Outside North America, Europe, and Australasia:

If your product needs to be returned within the warranty period, please contact the retailer or distributor from whom you purchased the product.

X. NZXT.COM STORE RETURNS/EXCHANGE POLICY

Eligible products under this NZXT Warranty qualify for a full refund or exchange only with an authorized RMA number and if the item is returned to the
NZXT.com store inventory within 30 days of purchase. Returns are not allowed beyond 30 days of the purchase date. The NZXT.com Store reserves the
right to deny any return or exchange. Refunds will be credited to the original method of payment. To initiate a return, simply submit a request via NZXT
support site.

v

Visit nzxt.com/warranty and support.nzxt.com for information on warranty coverage and service.

v

Visite el sitio Web nzxt.com/warranty y support.nzxt.com para obtener informacion sobre la cobertura y el servicio de la garantia.

Visitez nzxt.com/warranty et support.nzxt.com pour les informations de la couverture de la garantie et du service.

Informationen zu Geltungsbereich und Service der Garantie finden Sie unter support.nzxt.com und nzxt.com/warranty.

vovov

Visitare il sito nzxt.com/warranty e support.nzxt.com per informazioni sulla copertura e sul servizio della garanzia.

v

Visite nzxt.com/warranty e support.nzxt.com para obter informagdes sobre a cobertura da garantia e assisténcia.

HE 235 Yoot Mu|2& FEE =QI5HA|2{ B nzxt.com/warranty &+ support.nzxt.com £ =23 FA|7| HHEL|C}
REEHE S LU — ERICRI T B183RICTDUNTIE. support.nzxt.com & nzxt.com/warranty (C77 AL TLEE L,
183&1/ nzxt.com/warranty 1 support.nzxt.com 7 BREEEARBHER -

#aAM nzxt.com/warranty I support.nzxt.com 7 #EmiREEEMEZRBAL -

vovov

v

NZXT, Inc.| 15736 E. Valley Blvd, City of Industry, CA 91744, USA

NZXT Europe GmbH | Ammerthalstrasse 32 Kirchheim bei Muenchen 85551, Germany
NZXT UK Ltd. | First Floor 5 Fleet Place London EC4M 7RD, GB United Kingdom

+1 (800) 228-9395 / service@nzxt.com / nzxt.com

27



REGULATORY STATEMENT
FC C¢€

UKCA statement

The object of the declaration described above is in conformity with the relevant UK harmonization legislation:
+ Electromagnetic Compatibility Regulations 2016

+ The Restriction of the Use of Certain Hazardous Substances in Electrical and Electronic Equipment Regulations 2012

RoHS statement
This product is compliant to implemented RoHS (Restriction of Hazardous Substances) type regulations worldwide, including but not
limited to Japan, India, Korea, and European Union.

REACH statement

EU REACH SVHC Disclosure on Candidate List

REACH (Registration, Evaluation, Authorization and Restriction of Chemicals, EC 1907/2006) is the European Union's (EU) chemical
substances regulatory framework. REACH requires NZXT Inc. to provide customers with sufficient information on Substances of Very
High Concern (SVHC) contained in products in concentration above 0.1% weight by weight (w/w) to allow safe use of the product.

28



EU CE DOC

DECLARATION OF CONFORMITY
« The device complies with the requirements set out in the Council Directives relevant Union harmonisation legislation:
« EMC Directive 2014/30/EU « RoHS Directive 2011/65/EU & (EU) 2015/863

DECLARACION DE CONFORMIDAD

ENGLISH

« Eldispositivo cumple los requisitos impuestos en las directivas del Consejo relativas a la legislacion de armonizacion de la Unién Europea: ~ ESPANOL
« Directiva sobre compatibilidad electromagnética 2014/30/UE « Directiva sobre sustancias peligrosas 2011/65/UE y (UE) 2015/863

DECLARATION DE CONFORMITE

« L'appareil est conforme aux exigences définies dans les directives du Conseil relatives a la législation d'harmonisation de ['Union :

« Directive EMC 2014/30/UE « RoHS-Richtlinie 2011/65/EU & (EU) 2015/863

KONFORMITATSERKLARUNG
« Das Gerat entspricht den Anforderungen der entsprechenden EU-Harmonisierungsrichtlinien des Rates:
« EMV-Richtlinie 2014/30/EU « RoHS-Richtlinie 2011/65/EU & (EU) 2015/863

DICHIARAZIONE DI CONFORMITA

« Il dispositivo & conforme con i requisiti definiti nelle Direttive del Consiglio relative alla Norma sull'armonizzazione dell'Unione:

« Direttiva EMC 2014/30/UE « Direttiva RoHS 2011/65/UE e (UE) 2015/863

OSWIADCZENIEZGODNOSCI
« Urzadzenie jest zgodne z wymaganiami okreslonymi w odpowiednich unijnych Dyrektywach harmonizacyjnych Rady:
« Dyrektywa EMC 2014/30/UE « Dyrektywa RoHS 2011/65/UE i (UE) 2015/863

KONFORMITETSDEKLARATION
« Enheten uppfyller kraven som anges i Radets direktivs relevanta harmoniseringslagstiftning for Europeiska unionen:
« EMC-direktivet 2014/30/EU « RoHS-direktiv 2011/65/EU & (EU) 2015/863

VAATIMUSTENMUKAISUUSVAKUUTUS

« Het apparaat voldoet aan de vereisten van de relevante richtlijnen van de Raad met betrekking tot harmonisatiewetgeving in de Unie:

« EMC-richtlijn 2014/30/EU « RoHS-richtlijn 2011/65/EU & (EU) 2015/863

FRANCAIS

DEUTSCH

ITALIANO

POLSKI

SVENSKA

NEDERLANDS

29



|
To protect the global environment and as an environmentalist, NZXT must remind you that:
Under the European Union ("EU") Directive on Waste Electrical and Electronic Equipment,

Directive 2002/96/EC, which takes effect on August 13, 2005, products of "electrical and electronic equipment" cannot be discarded as municipal
waste anymore and manufacturers of covered electronic equipment will be obligated to take back such products at the end of their useful life. NZXT
will comply with the product take back requirements at the end of life of NZXT-branded products that are sold into the EU. You can return these
products to local collection points.

En tant qu'écologiste et afin de protéger l'environnement, NZXT tient & rappeler ceci:

Au sujet de la directive européenne (EU) relative aux déchets des équipement électriques et électroniques, directive 2002/96/EC, prenant effet le
13 aolt 2005, que les produits électriques et électroniques ne peuvent étre déposés dans les décharges ou tout simple-ment mis a la poubelle. Les
fabricants de ces équipements seront obligés de récupérer certains produits en fin de vie. NZXT prendra en compte cette exigence relative au retour
des produits en fin de vie au sein de la communauté européenne. Par conséquent vous

pouvez retourner localement ces matériels dans les points de collecte.

FCC, ISED

This device complies with Part 15 of the FCC Rules. Operation is subject to the following two conditions: (1) This device may not cause
harmful interference, and (2) this device must accept any interference received, including interference that may cause undesired
operation.

CAN ICES-003(B) / NMB-003(B)

30



SUPPORT AND SERVICE

SUPPORT AND SERVICE

If you have any questions or problems with the NZXT product you purchased, please don’t hesitate to contact us using our support system.
service@nzxt.com support.nzxt.com

Please include a detailed explanation of your problem and your proof of purchase. For comments and suggestions, you can e-mail our design team,
designer@nzxt.com.

Lastly we would like to thank you for your support by purchasing this product. For more information about NZXT, please visit us online. NZXT Website:
NZXT.com

SOPORTE Y SERVICIO

Si tiene preguntas o problemas con el producto NZXT que usted compré, no dure en ponerse en contacto con service@nzxt.com y suministrar una
explicacion detallada de su problema asi como su prueba de compra.

Puede hacer consultas sobre piezas de repuesto en support.nzxt.com.
Para comentarios y sugerencias, escriba un mensaje de correo electrénico a nuestro equipo de disefio: designer@nzxt.com.

Gracias por comprar un producto NZXT. Para mas informacion acerca de NZXT, visitenos en linea. Pagina web de NZXT: NZXT.com

SUPPORT ET SERVICE

Sivous avez des questions ou des problémes avec le produit NZXT que vous avez acheté, n’hésitez pas a contacter service@nzxt.com avec une description
détaillée de votre probléme et votre preuve d’achat.

Vous pouvez aussi commander des piéces de remplacement auprés support.nzxt.com.
Pour les commentaires et les suggestions, envoyez un email a notre équipe de design, designer@nzxt.com.

Merci d'avoir acheté ce produit de NZXT. Pour plus d'informations sur NZXT, visitez notre site Web. Site Web de NZXT : NZXT.com

KUNDENDIENST UND SERVICE

Falls Fragen oder Probleme bezglich Ihres NZXT-Produktes auftreten, wenden Sie sich bitte mit einer detaillierten Problembeschreibung und lhrem
Kaufbeleg an service@nzxt.com.

Ersatzteile kdnnen Sie unter support.nzxt.com anfragen.
Kommentare und Anregungen senden Sie bitte per designer@nzxt.com an unser Designteam.
Vielen Dank, dass Sie ein NZXT-Produkt erworben haben. Weitere Informationen tGiber NZXT erhalten Sie im Internet. NZXT-Webseite: NZXT.com

ASSISTENZA E SERVIZIO

In caso di dubbi o problemi con il prodotto NZXT acquistato, non esitate a contattarci utilizzando il nostro sistema di assistenza. support.nzxt.com
Includere una spiegazione dettagliata del problema e la prova di acquisto. service@nzxt.com

Per commenti e suggerimenti, siete pregati di inviare un messaggio al nostro team di progettisti, all'indirizzo: designer@nzxt.com.

Infine, vogliamo ringraziarvi del vostro supporto con l'acquisto di questo prodotto. Per altre informazioni su NZXT, visitate il nostro sito.
Sito NZXT: NZXT.com

31



ASSISTENCIA E MANUTENGAO E

Caso tenha questdes ou problemas com o produto NZXT adquirido, nao hesite em contactar-nos através do endereco service@nzxt.com fornecendo a
explicacao detalhada do seu problema e a prova de compra.

Poderé solicitar pegas de substitui¢ao através do enderego support.nzxt.com.
Para comentarios e sugestdes, contacte a nossa equipa de design através do enderego de e-mail, designer@nzxt.com.

Obrigado por ter adquirido um produto NZXT. Para mais informagoes acerca da NZXT, visitenos online. Web site da NZXT: NZXT.com

@ U MH A

TS NZXT | Z3h 22310 B2 = 2|7 AS F2, YA K| A|AH support.nzxt.com & AFR3I0] 2O|SHAA| . 2H S RIN|8| 7|28t TLOf S
HESHAUAI2. service@nzxt.com

OfH =& HIQHALEHO| QS H R THAL A El0fl designer@nzxt.com@ 2 O|H Y S ELHMA|IR.

OIX L2 20| HFS TSt SAS S FMA LA LICH NZXTO| CHl XhAS| Z2{H22telo 2 W RSIHAIR. NZXT HAF0| £: NZXT.com

HR-PBLUH—ER

FEATNE LIENZXTORRICRI T2 T ERE I SRIEIL. BEDHMS LUMBADIRERZ T CEEE < service@nzxt.com FTTEAE LT,
RERSAIE support.nzxt.com FCHBRIEETLY,

TERBLUTRREIGEHRTF — L. designer@nzxt.com FTA—/LEZEELTLIEELY,

NZXTRRZE AW EELTHIHNESTEVE T, NZXTICB T B8, 1 > 2 — XY b EDOVT T YA b ETELZEW, NZXT U174 b:NZXT.com

SRS

MRBEIER O EEEA NZXT RIS R PERE @O - WD service@nzxt.com - KA ISR HAT OB FARARMWEEIL -
& B] LA support.nzxt.com Bl E HRERF -

MAEEAR LR WDBIERIGIZITHABA - & FubtFihit 2 designer@nzxt.com -

ORISR NZXT 7@ - BRNZXTHEZER - BHRIINELINIE - NZXT Wis : NZXT.com

SXEMRB

MRAEEFNZXT ERNBRPEBIEARBEREER - S0 S service@nzxt.com - IR HRIERN
ST support.nzxt.com BRI E AR -

MAERRERNES - BUREHERET B R designer@nzxt.com -

REBE NZXT R - B NZXT WESER - FHHBRMAVMELS - NZXT 4815 : NZXT.com

AR R B R B -

32



NZXT

NZXT, Inc.| 15736 E. Valley Blvd, City of Industry, CA 91744, USA

NZXT Europe GmbH | Ammerthalstrasse 32 Kirchheim bei Muenchen 85551, Germany
NZXT UK Ltd. | First Floor 5 Fleet Place London EC4M 7RD, GB United Kingdom

+1 (800) 228-9395 / service@nzxt.com / nzxt.com

IR EZERRHFERAS | SbH P ILERRRIE _R36E3MH1E




tEh n O tE l(a https://tehnoteka.rs

Ovaj dokument je originalno proizveden i objavljen od strane proizvodaca,
brenda NZXT, i preuzet je sa njihove zvanicne stranice. S obzirom na ovu
cinjenicu, Tehnoteka istice da ne preuzima odgovornost za tacnost,
celovitost ili pouzdanost informacija, podataka, misljenja, saveta ili izjava
sadrzanih u ovom dokumentu.

Napominjemo da Tehnoteka nema ovlaséenje da izvrsi bilo kakve izmene ili
dopune na ovom dokumentu, stoga nismo odgovorni za eventualne greske,
propuste ili netacnosti koje se mogu nadi unutar njega. Tehnoteka ne
odgovara za Stetu nanesenu korisnicima pri upotrebi netacnih podataka.
Ukoliko imate dodatna pitanja o proizvodu, ljubazno vas molimo da
kontaktirate direktno proizvodaca kako biste dobili sve detaljne
informacije.

Za najnovije informacije o ceni, dostupnim akcijama i tehnickim
karakteristikama proizvoda koji se pominje u ovom dokumentu, molimo
posetite nasu stranicu klikom na slededi link:

https://tehnoteka.rs/p/nzxt-kuciste-h7-flow-rgb-cm-h71fw-rl-akcija-cena/



https://tehnoteka.rs/?utm_source=tehnoteka&utm_medium=pdf&utm_campaign=click_pdf
https://tehnoteka.rs/p/nzxt-kuciste-h7-flow-rgb-cm-h71fw-r1-akcija-cena/?utm_source=tehnoteka&utm_medium=pdf&utm_campaign=click_pdf
http://www.tcpdf.org

